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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2013 
,••••-•0 

ELECTIVE COURSE : COMMERCE 

ECO-1 : BUSINESS ORGANISATION 

Time : 2 hours 	 Maximum Marks : 50 
(Weigh tage 70%) 

Note : Attempt both Part - A and Part - B. 

PART—A 

	

1. 	Distinguish between any two of the following : 5+5 
(a) Employment and Profession 

(b) Private limited company and Public limited 
company 

(c) Bank overdraft and Cash credit 

(d) Joint life policy and Group insurance 

	

2. 	Write short notes on any two of the following : 5+5 
(a) Hypothecation 

(b) Leasing 

(c) Public utility undertaking 

(d) Underwriting 
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PART-B 

Attempt any three of the following questions : 

3. Discuss the role of entrepreneur in business 6+4 
promotion. Outline the basic characteristics of 
an entrepreneur. 

4. State the various methods of raising long term 
funds for a business organization and explain the 
merits and demerits of any one of these methods. 

3, 4, 3 

5. "Advertisement is a waste". Comment on this 10 

statement. 

6. Discuss the factors influencing the choice of 10 

channels of distribution. 

7. Define business risk. What are the various types 
of business risks ? How do you manage them ? 2+4+4 

8. (a) Explain the characteristics of a government 5+5 
company. 

(b) Why is government's direct participation in 
business considered necessary ? 
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1. 	F-14-1 (1 (Act 	41.6't 	01c1 	: 
	5+5 

(a) 1R-I air iL11111t 

(b) MI 	ro14-1.8 *Er* 24-r 	10P.8 tEr91 

(c) 44) at-11-471Z .ff211 	3"417 (cash credit) 

(d) 	c 	air TIT-  1-11 

	

2. 	F-11—liriRsid 	ft-4 t Tfivtr du-ANT faruu, : 5+5 

(a) -FTZ-49-W (Hypothecation) 

(b) 11-gr1  f E (Leasing) 

(c) ciich)44111 (.)cii*P-11 

(d) 3-IfiTTTIEN 
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	figd A ftt *a. 	drIt fffft17 : 

3. oticmiti -51441' 3E11:11-  (entrepreneur) ca 	6+4 

ft-4-49 .4-f-A-R 21E -> 	ch1 fq-7)-61-d-r3il 

4. Lc cznakillicr) TfT211 	Fr-R c14a-o1'1 raa sqdi 

fqr1T -  Treat chl 	4fq-  w *14 	- 11 

c«a 	itsi 4-f-A7I 	 3, 4, 3 

5. "fa-R:F Lch 	t1"   -1*I 10 

6. ft-11-14 itTurril -ail 	WI-4d (*A 	rarer io 
fq-4-49-  

7. oellcM1richWwf 	,IrorrErr q11 	i ,1 cii.miria,W-ur4 

rqr 	=NI t? 3Trcr 6-1111 	MoitNt74 	? 
2+4+4 

8. (a) 	wa)11 	1 	fqtEra-r3-ff 	-1-f-A-R I 	5+5 

(b) 	watilti 	(-114)11 k 	 mNu (c\4 	9Trrr x1.11 

c(- 	31 Td74 	1-11-11 Alc-11 t? 
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